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1. F=RIT & PH-9 $UF I IR DIF-9 $UF IR &2 (09 IR P U7
vfera Suufy ar gfa-Sarever vy (10)

i) n=63ﬁ'\’P(X=4)=P(X=2)€I1?r@ﬂ3€i€?rav‘rmwg%\'l
i) A e Wftaer & uRd: ==aw gar 2|
i) 6x° -7y’ +4xy® 98 Uid, STel I8 A ©, —c0<X<0,0<y<w B |
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V) F(X)®T CDF F(—00) =0, F(0) =1, X &I U JERIAM B, gRT IRHIMNT T |
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a) lm XX +16 ST BT | )
b) sinx BT tan X ® AU FaHeA- S DIfoTY | (5)

a) TP fad T 3ffbs @ fory 100 UeToll &1 ARy 3R S.D. HH: 40 3R 5.1 8| 91€ #
JE U AT fb TH YeTOT e W 40 & oI 50 forar | |@El "y 8fik S.D
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by afe x &1 p.df, f(x)=2x,0<x<1 B, @ k &1 #F 3IR xHTS.D. 51ad DI | (5)

AT Xx+y=67, Al x>+ y? BT FAqH A AT DI | (10)
(sin ' x)?
dx T A9 ST BIRTY | 5
) g ®
by S WHAA Bl FHIGIU G DN S FAAA x+2y+3z2=4 3R
AX+3y+2z+1=0 & Ufoewe fdg & T 9o g & oRar 2| (5)
a) <9 7 Radi #1000 IR IBTAT 9T &, o 4 ford iR 3 ue fhai aR mir? (5)
b) ox figet A, B, C 3k D & Rufd wfkwr waer 2 +4k, 5i+33] + 4k,
—24/3i +k aﬁqzhﬁ%ﬂW%AB,CD@W%amCD:%AB = (5)
a) B PIIY : (1—sin xtan y)dx + (cos xsec” y)dy =0. (5)

b) fr=foRad sifesl I y =70 &1 A 3Bl HINT
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X=67,y=650,=350,=25r=0.8 (5)

8. f(x)=0e™,x>0,0>0, & oIy E(x) 3R V(x) ST HIY | (10)
9. fFr=IfeRad eiferel | X 3R Y & &1 Hgdad [0 S DI (10)
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10. &) f(x,y)=ax’+2hxy+by? & oIy Mger UHT FAMUd HIfoTT | (5)
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